# Bike Racks / DTM - Bid #: 8519-J6

The Department of Transportation and Mobility are requesting bids for one-hundred five (105) Bicycle Surface Mounted Hitch Racks and two (2) Cycle Stalls. See item specifications below, award based on aggregate total (bidder must bid both items to be considered for award) and the bid price shall include all associated fees, including those related to shipping. If available, include product cut sheets for all items being proposed within your bid submission.

# 1. Bicycle Hitch Rack

- 35" tall hitch style bike rack with two (2) bike capacity
- Centerbeam of 2" schedule 40 pipe and a ring of 1.5" OD 11-gauge tube
- Surface mounted with 4 tamper resistant fasteners
- Powder coated black finish

#### 2. Cycle Stall

- Eight (8) bike capacity racks consisting of four (4) 1.5" schedule 40 pipe hoop racks
- Mounted to two (2) 3" x 1.4" X 3/16" thick galvanized rails, with two (2) recycled plastic wheel stops and two (2) 36" traffic delineators
- Powder coated black finish

Item #	QTY	иом	MFG	Description	Unit Price	Total Price
1	105	Each		Bicycle Hitch Rack (requirements above)	\$ 165.00	\$17,2,35.06
2	2	Each	******	Cycle Stall (requirements above)	\$729.00	\$ <u>1458</u> .00
				Award Based on this amount*	Grand Total*	\$ 18 JA 3.00

8/25/25 COPIE POIS

BIDDER NAME: CORIECTLY COPTINGS

# Bike Racks / DTM - Bid #: 8519-J6

The Department of Transportation and Mobility are requesting bids for one-hundred five (105) Bicycle Surface Mounted Hitch Racks and two (2) Cycle Stalls. See item specifications below, award based on aggregate total (bidder must bid both items to be considered for award) and the bid price shall include all associated fees, including those related to shipping. If available, include product cut sheets for all items being proposed within your bid submission.

# 1. <u>Bicycle Hitch Rack</u>

- 35" tall hitch style bike rack with two (2) bike capacity
- Centerbeam of 2" schedule 40 pipe and a ring of 1.5" OD 11-gauge tube
- Surface mounted with 4 tamper resistant fasteners
- Powder coated black finish

# 2. <u>Cycle Stall</u>

- Eight (8) bike capacity racks consisting of four (4) 1.5" schedule 40 pipe hoop racks
- Mounted to two (2) 3" x 1.4" X 3/16" thick galvanized rails, with two (2) recycled plastic wheel stops and two (2) 36" traffic delineators
- Powder coated black finish

Item #	QTY	<u>UOM</u>	<u>MFG</u>	Description	<u>Unit Price</u>	Total Price
1	105	Each	BH-FT-EP	X Bicycle Hitch Rack (requirements above)	\$ <u>209.00</u>	\$ <u>21945.00</u>
2	2	Each	CSBA-SS	G-EPX Cycle Stall (requirements above)	\$ <u>1685</u> .00	\$ 3370.00 <u> </u>
				Award Based on this amount*	Grand Total*	\$ 25,315.00 <u></u>

|--|

#### Bike Racks / DTM - Bid #: 8519-J6

The Department of Transportation and Mobility are requesting bids for one-hundred five (105) Bicycle Surface Mounted Hitch Racks and two (2) Cycle Stalls. See item specifications below, award based on aggregate total (bidder must bid both items to be considered for award) and the bid price shall include all associated fees, including those related to shipping. If available, include product cut sheets for all items being proposed within your bid submission.

#### 1. Bicycle Hitch Rack

- 35" tall hitch style bike rack with two (2) bike capacity
- Centerbeam of 2" schedule 40 pipe and a ring of 1.5" OD 11-gauge tube
- Surface mounted with 4 tamper resistant fasteners
- Powder coated black finish

#### Cycle Stall

- Eight (8) bike capacity racks consisting of four (4) 1.5" schedule 40 pipe hoop racks
   Mounted to two (2) 3" x 1.4" X 3/16" thick galvanized rails, with two (2) recycled plastic wheel stops and two (2) 36" traffic delineators
- Powder coated black finish

item #	QIY	NOM	MEG	Description	<u>Unit Price</u>	<u>Total Price</u>
1	105	Each	Dero	Bicycle Hitch Rack (requirements above)	\$ <u>233</u> . <u>48</u>	\$ <u>24515</u> .40
2	2	Each	Dero	Cycle Stall (requirements above)	\$_2087.10	\$ 4174 . 20
				Award Based on this amount*	Grand Total*	\$28,689.60

BIDDER NAME: Everlast Climbing Industries dba Dero

# Bike Racks / DTM - Bid #: 8519-J6

The Department of Transportation and Mobility are requesting bids for one-hundred five (105) Bicycle Surface Mounted Hitch Racks and two (2) Cycle Stalls. See item specifications below, award based on aggregate total (bidder must bid both items to be considered for award) and the bid price shall include all associated fees, including those related to shipping. If available, include product cut sheets for all items being proposed within your bid submission.

#### 1. Bicycle Hitch Rack

- 35" tall hitch style bike rack with two (2) bike capacity
- Centerbeam of 2" schedule 40 pipe and a ring of 1.5" OD 11-gauge tube
- Surface mounted with 4 tamper resistant fasteners
- Powder coated black finish

# 2. Cycle Stall

- Eight (8) bike capacity racks consisting of four (4) 1.5" schedule 40 pipe hoop racks
- Mounted to two (2) 3" x 1.4" X 3/16" thick galvanized rails, with two (2) recycled plastic wheel stops and two (2) 36" traffic delineators
- Powder coated black finish

ltem #	QTY	UOM	MFG	Description	<u>Unit Price</u>	Total Price
1	105	Each	Dero	Bicycle Hitch Rack (requirements above)	\$ <u>425</u> .00	\$ <u>44,625</u> .00
2	2	Each	Dero	Cycle Stall (requirements above)	\$ <u>3,800</u> 00	\$ <u>7,600</u> .00
				Award Based on this amount*	Grand Total*	\$ <u>52,225</u> . <u>00</u>

BIDDER NAME: K5 Corporation
-----------------------------

# Bike Racks / DTM - Bid #: 8519-J6

The Department of Transportation and Mobility are requesting bids for one-hundred five (105) Bicycle Surface Mounted Hitch Racks and two (2) Cycle Stalls. See item specifications below, award based on aggregate total (bidder must bid both items to be considered for award) and the bid price shall include all associated fees, including those related to shipping. If available, include product cut sheets for all items being proposed within your bid submission.

# 1. <u>Bicycle Hitch Rack</u>

- 35" tall hitch style bike rack with two (2) bike capacity
- Centerbeam of 2" schedule 40 pipe and a ring of 1.5" OD 11-gauge tube
- Surface mounted with 4 tamper resistant fasteners
- Powder coated black finish

#### 2. Cycle Stall

- Eight (8) bike capacity racks consisting of four (4) 1.5" schedule 40 pipe hoop racks
- Mounted to two (2) 3" x 1.4" X 3/16" thick galvanized rails, with two (2) recycled plastic wheel stops and two (2) 36" traffic delineators
- Powder coated black finish

Item #	QTY	<u>UOM</u>	<u>MFG</u>	Description	<u>Unit Price</u>	<u>Total Price</u>
1	105	Each	KINETIC_	Bicycle Hitch Rack (requirements above)	\$254.00	\$26,670.00
2	2	Each	KINETIC_	Cycle Stall (requirements above)	\$1299.00_	\$2598.00
				Award Based on this amount*	Grand Total*	\$29,268.00_

# Bike Racks / DTM - Bid #: 8519-J6

The Department of Transportation and Mobility are requesting bids for one-hundred five (105) Bicycle Surface Mounted Hitch Racks and two (2) Cycle Stalls. See item specifications below, award based on aggregate total (bidder must bid both items to be considered for award) and the bid price shall include all associated fees, including those related to shipping. If available, include product cut sheets for all items being proposed within your bid submission.

# 1. <u>Bicycle Hitch Rack</u>

- 35" tall hitch style bike rack with two (2) bike capacity
- Centerbeam of 2" schedule 40 pipe and a ring of 1.5" OD 11-gauge tube
- Surface mounted with 4 tamper resistant fasteners
- Powder coated black finish

# 2. Cycle Stall

- Eight (8) bike capacity racks consisting of four (4) 1.5" schedule 40 pipe hoop racks
- Mounted to two (2) 3" x 1.4" X 3/16" thick galvanized rails, with two (2) recycled plastic wheel stops and two (2) 36" traffic delineators
- Powder coated black finish

ltem #	QTY	<u>UOM</u>	<u>MFG</u>	Description	<u>Unit Price</u>	<u>Total Price</u>
1	105	Each	DERO	Bicycle Hitch Rack (requirements above)	\$ <u>181</u> . <u>00</u>	\$ <u>19,005</u> . <u>00</u>
2	2	Each	<u>DERO</u>	Cycle Stall (requirements above)	\$ <u>1,169</u> . 00	\$ <u>2,338</u> . 00
				Award Based on this amount*	Shipping  Grand Total*	\$1,850.00 \$ <u>23,193.</u> 00

Lead Time is 3 weeks (+transit time from FL)